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5,000,000% *13] 5,000
O5MAIZ BHELIECHE! JHA
5,000,000% *13] 5,000
Otz 2210 HE 1,000,000 %1052 0,000
OOl =HILIATHEl HE 3,000,000% *13] 3,000
ONZ2YHE 25 =205 A
5,000,000% *13] 5,000
ORI48 BHCIZ 5T7AI2 HILIATHE
5,000,000% *13] 5,000
T B4 105,800 105,800
07 21201 105,800 105,800
PRTEIEPI=E S 105,800 105,800
OAIBURSH 100,000
—2A31FH 2 2@l 100,000, 0002 *141 100,000
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A 23220
Hz: NEMSINE(2ILAZ/AS)
ol MSKBAY U ASEA (ol a e
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OxdZ2B2UREHS 5,800
—=&d & 3l &yl 5,800,000& *14] 5,800
MEsWaE 29 4,855 7,520 N2,665
J| 1,457
= 1,699
iy 1,699
307 QIZtolA 4,855 7,520 N2,665
J| 1,457
= 1,699
iy 1,699
02 QI2HEAMNEX 4,855 7,520 N2 ,665
OMssns 29 4,855,000& 4,855
J| 1,457
== 1,699
o 1,699
HYH M=K BHX 83,712 82,320 1,392
J| 41,856
iy 41,856
307 QI2t0lA 83,712 82,320 1,392
J| 41,856
o 41,856
02 QI2HEAMEX 83,712 82,320 1,392
OdLM MEME KX Ui X 83,712,000& 83,712
Il 41,856
o 41,856
oy dMsg2s XdE 20,928 20,580 348
J| 10,464
iy 10,464
307 QI2tolA 20,928 20,580 348
J| 10,464
iy 10,464
02 QI2HEAMNEX 20,928 20,580 348
Oonzdl XN=sgs XA 20,928,000& 20,928
J| 10,464
= 10,464




A 23220
M NHSTE(SHUDR/HS)
ol FMSAAAY L ASEY (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
AU =32NA 2 8,400 8,400 0
= 2,470
iy 5,930

307 QI2tolA 8,400 8,400 0
& 2,470
o 5,930

02 QI2AEAMNEX 8,400 8,400 0
O%A2d =304 29 8,400, 000& 8,400
= 2,470
= 5,930

PECTELZUSEUEXEIE =4 250,000 0 250,000

401 AlZHIZLE204H] 250,000 0 250,000

01 Al&H] 250,000 0 250,000

OMALH U 2ENTEY

250,000, 000& * 1A 250,000

MEHNE 50221 27,857 0 27,857
& 9,286
iy 18,571

307 QIZtOlA 27,857 0 27,857
= 9,286
iy 18,571

02 0I2tFAYE X 27,857 0 27,857
OoMEs ss0212/1 AH 27,857,000& 27,857
= 9,286
= 18,571

oHelol dMsna 249 4,096 0 4,096
J| 2,048
iy 2,048

307 QIZtoIA 4,096 0 4,096
J| 2,048
iy 2,048

02 OI2tZAE X 4,096 0 4,096
Oe0lMsna 29 4,096,000& 4,096
bl 2,048
- 2,048




od
’J
OF
oJ

OF
m

-
0 X0
K
—y X
ok =
%o.ﬂ <
0K oK

e

n0

KIo

Bl w

5,357

5,357

5,357

4,096

4,096

4,096

4,096

4,096

4,096

643

H3r
uiled!
pak=

=
o

s

<J

5,357

1,607

Il

1,875

Iy

H

1,875

5,357

1,607

Il

1,875

Iy

H

1,875
5,357

5,357

1,607

Il

1,875
1,875

H

H

4,096

2,048
2,048

P

rH

4,096

2,048

Jl

H

2,048
4,096

4,096

2,048
2,048

Il

H

4,096

2,048

Il

rH

2,048

4,096
2,048

Il

rH

2,048
4,096

4,096

2,048
2,048

Il

H

643

193

P

KA

-

n0
OF

=
ol
20
X0

o

K4

<0
R0
nJ
ol

5,357,000&

ol

ors

KA

<0
R0
~nJ
(=1

4,096,000

30
OH

or

o
=

ol
H
3

-

K0

ol

K4

<0
R0
nJ
ol

4,096,000

0k
ol

0F
3
ol
H

3+

-

KO

d3dol&dna
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SN 2522
M NAHSTUS (2L 22 /HK)
=R MSEAAY & AELd (9 &d)
_ = P e
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
dZdoland =29 S 225
= 225
307 g2iz2told 643 0 643
) 193
= 225
o 225
02 22tda=Ex 643 0 643
OdAdioldns 24 643,000& 643
Il 193
& 225
o 225
H=sdg 24 Jl=3 37,614 40,300 N2,686
201 et 29,520 31,800 N2,280
01 AtR2teld 11,520 12,800 1,280
OF&2K L HSALY 2 S - 5
2= MH 3,000,000& *12] 3,000
OxdclMerd e Hoe 2 2he &
3,520,000 *13] 3,520
O=Hlz & =2 MSHA EE=
NS 5,000,000 *13] 5,000
02 3&=23Hl 9,000 9,000 0
Oz & -9 HUAE & HOIESE &L
29 1,500,000 «65 & 9,000
03 A2 9,000 10,000 1,000
OM=S&A XI& 4,000,000 4,000
O™¥ADN= 23 & Xt 3,000,000& 3,000
OdAL 2d A28 2 2,000,000& 2,000
202 OdH 7,194 8,500 A 1,306
01 2ol 7,194 8,500 21,306
OSH 0l 7,194,000& 7,194
405 XtobESHI 900 0 900
01 T =SHSH 900 0 900
OF= [V PSES = D=t 900,000& = 1CH 900
HY 2 ZHI(23t2t2 ) (IIEHDIE 14,400 9,840 4,560
Jl=2dHl 14,400 9,840 4,560
I
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od
’J
oF
oJ

FY(D1EH/DIEL)

e

n0

KIo

Bl w

4,560

2,160
2,160

2,400
2,400

LH3r
m<l
Rk

9,840

5,040
5,040

4,800
4,800

=
o

s

<J

14,400

7,200
7,200

7,200

7,200
7,200

7,200

A Dl

&

4
K
ok
D
I

7,200,000

202 O

=L bl

01

7,200,000&

Kl
K
aF
ol
il
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